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COMBINED GEOLOGY SUBORDINATE SERVICE IN 
EXAMINATION– 2021 

 
1. Learning with understanding is facilitated when new and existing 

knowledge is structured around the major concepts and principles of the 
discipline. This is known as 
a. Principled conceptual knowledge  b. Metacognition 
c. Use of concept maps    d. Individual differences 
e. Answer not known 
Vw;fdNt ,Uf;fpd;w mwpTk; Gjpa mwpTk; Jiwapd; Kf;fpa 
fUj;Jf;fisAk; Nfhl;ghLfisAk; ikag;gLj;jp tbtikj;jy; GhpjNyhL 
fw;wiy vspjhf;Fk;. ,JNt ________ MFk;. 
a. fUj;JU mwpT epakk;    b. Ra mwpjywpT 
c. fUj;JU tiuglk; gad;ghL   d. jdpahs; Ntw;Wikfs; 
e. tpil njhpatpy;iy 

 
2. Who is the Chairman of the Fifteenth Finance Commission 

a. K. Santhanam    b. P.V. Rajamannar 
c. C. Rangarajan    d. N.K. Singh 
e. Answer not known 
gjpide;jhtJ epjpf;FOtpd; jiyth; ahh;? 
a. K. re;jhdk;    b. P.V. uh[kd;dhh; 
c. C. uq;fuh[d;   d. N.K. rpq; 
e. tpil njhpatpy;iy 

 
3. In the modern days teachers encourage intelligent students by guiding 

them to make research, similarly in ancient days ______ was a method 
specially adopted for highly intelligent students. 
a. Thinking      b. Reasoning 
c. Manan (Reflection)    d. Understanding 
e. Answer not known 
etPd ehl;fspy;> Ez;zwpT kpf;f khzth;fs; Ma;it cUthf;Ftjw;F 
Cf;Ftpj;J Mrphpah;fs; topfhl;Lfpd;whh;fs;> mNj Nghy; gz;ila ehl;fspy; 
kpf Ez;zwpT cila khzth;fSf;F _________ Kiw gad;gLj;jg;gl;lJ. 
a. rpe;jid      b. Ma;Tj; jpwd; 
c. kddk; (gpujpgypj;jy;)    d. Ghpe;J nfhs;Sjy; 
e. tpil njhpatpy;iy 

 
4. Estimation of National Income in India is carried out by  

a. Reserve Bank of India    
b. Planning Commission of India 
c. Central Statistical Organisation  
d. National Sample Survey Commission 
e. Answer not known 
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,e;jpahtpd; Njrpa tUtha; ahuhy; fzf;fplg;gLfpwJ? 
a. ,e;jpa hprh;t; tq;fp    
b. jpl;lf; FO 
c. kj;jpa Gs;sp tptu FO   
d. Njrpa khjphp fzf;nfLg;G Mizak; 
e. tpil njhpatpy;iy 

 
5. Match the correct combination: 

Minerals   Role 
A. Molybdenum  1. Chlorophyll 
B. Zinc    2. Methionine 
C. Magnesium  3. Auxin 
D. Sulphur   4. Nitrogenase 

 A B C D 
a. 1 3 4 2  
b. 2 1 3 4  
c. 4 3 1 2  
d. 4 2 1 3  
e. Answer not known 

rhpahdtw;iwg; nghUj;Jf: 
jdpkq;fs;    gzpfs; 

A. khypg;bdk;   1. gr;irak; 
B. Jj;jehfk;   2. nkj;jpNahdpd; 
C. nkf;dPrpak;   3. Mf;rpd; 
D. ry/gh;   4. iel;Nuh[pNd]; 

 A B C D 
a. 1 3 4 2  
b. 2 1 3 4  
c. 4 3 1 2  
d. 4 2 1 3  
e.  tpil njhpatpy;iy 

 
 

6. Valmiki Ambedkar Awas Yojana was launched to provide shelter to the 
_______ living below the poverty line 
a. Farmers     b. Urban women 
c. Urban slum dwellers   d. Rural people 
e. Answer not known 
thy;kPfp mk;Ngj;fh; Mth]; Nah[dh> tWikf; Nfhl;Lf;F fPNo thOk; 
________ gad;ngw> tPLfs; toq;f epWtg;gl;lJ. 
a. tptrhapfs;     b. efh;g;Gw ngz;fs; 
c. efh;g;Gw Fbirthrpfs;   d. fpuhk kf;fs; 
e. tpil njhpatpy;iy 
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7. Which of the following organisms is the producer of the ocean? 

a. Nekton     b. Benthos 
c. Phytoplankton    d. Zooplankton 
e. Answer not known 
fPo;tUk; caphpdq;fspy; vJ flypy; Kjd;ik czT jahhpg;ghsh;fs;? 
a. nef;lhd;      
b. nge;jh]; 
c. igl;Nlhgpshq;lhd; (jhtu kpjitfs;)  
d. [{gpshq;lhd; (tpyq;F kpjitfs;) 
e. tpil njhpatpy;iy 

 
8. _________ is not involved in the preparation of Budget. 

a. Finance Ministry     b. NITI Aayog 
c. Comptroller and Auditor-General  d. Finance Commission 
e. Answer not known 
gl;n[l; jahhpg;gpy; gq;F ngwhjJ 
a. epjp mikr;rfk;      b. epjp MNahf; 
c. jiyik jzpf;if kw;Wk; fzf;fhsh;  d. epjp Mizak; 
e. tpil njhpatpy;iy 

 
9. A good lubricant should have the following property 

a. It should be capable of conducting away heat produced by friction. 
b. It should be change in chemical reaction. 
c. It should be decompose at high temperature. 
d. High price. 
e. Answer not known 
xU rpwe;j caTg; nghUs; gpd;tUk; gz;ig ngw;wpUf;Fk;. 
a. cuha;tpdhy; Vw;glf;$ba ntg;gj;ijj; Jhpjkhf flj;Jk; gz;igg; 

ngw;wpUf;f Ntz;Lk;. 
b. Ntjpapay; tpidfshy; khw Ntz;Lk;. 
c. cah; ntg;g epiyapy; rpijT ngw Ntz;Lk;. 
d. mjpf tpiy 
e.  tpil njhpatpy;iy 

 
 

10. Following are the list of few duty’s collected by the Union and State 
Government in India 
1. Customs duty 
2. Duties in respects of succession to Agricultural Land 
3. Excise duty 
4. Estate duty in respect of Agricultural land 
Select the duty collected by the Union Government by using the codes 
a. 1 only      b. 4 only 
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c. 1 and 3     d. 2 and 4 
e. Answer not known 
kj;jpa khepy muRfshy; t#ypf;fg;gLk; thpfspy; rpyUf;Nf 
nfhLf;fg;gl;Ls;sd. 
1. Rq;f thp 
2. tptrha epyj;jpd; kjpg;g thp  
3. fyhy; thp 
4. tptrha epyj;jpd; nrhj;J kPjhd thp 
,tw;Ws; kj;jpa murhy; t#ypf;fg;gLk; thpfis FwpaPLfisg; gad;gLj;jp 
njhpT nra;f.  
a. 1 kl;Lk;     b. 4 kl;Lk; 
c. 1 kw;Wk; 3     d. 2 kw;Wk; 4 
e. tpil njhpatpy;iy 

 
11. The variation of g with time can reveal 

a. the presence of oil 
b. the presence of minerals 
c. the seismic activity 
d. the path of ballistic missiles 
e. Answer not known 
g apd; kjpg;G fhyj;jpd; (time) mbg;gilapy; khWtJ vij 
ntspg;gLj;JfpwJ? 
a. vz;nza; ,Ug;gij 
b. jhJf;fs; ,Ug;gij 
c. epy mjph;it 
d. ghyp];bf; VTfiz ghij 
e. tpil njhpatpy;iy 

 
12. Industrial liberalization in India started with 

1. Increasing Agricultural production 
2. Land Reform 
3. Regulate Industrial development 
4. Induce Private sector investment and participated 
Select the correct answer by using the code 
a. 1 only     b. 2 and 3  
c. 1 and 4     d. 3 and 4 

e. Answer not known 
,e;jpahtpy; njhopy;Jiw jhuhskakhf;fy; vd;gJ ,tw;Wld; njhlq;fpaJ. 
tptrha cw;gj;jpia mjpfhpf;f 
epy rPh;j;jpUj;jr; rl;lk; 
njhopy;Jiw Kd;Ndw;wj;ij xOq;Fg;gLj;Jjy; 
jdpahh;Jiwapd; KjyPL kw;Wk; gq;F ngWtij Cf;Ftpj;jy; 
FwpaPLfisg; gad;gLj;jp rhpahd tpilia njhpT nra;f 
a. 1 kl;Lk;     b. 2 kw;Wk; 3  
c. 1 kw;Wk; 4     d. 3 kw;Wk; 4 
e. tpil njhpatpy;iy 
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13. Which one of the following aqueous solutions will have highest pH value? 
a. NaCl      b. KNO3    
c. Na2CO3     d. ZnCl2 
e. Answer not known 
fPo;f;fz;l ePh;kf; fiury;fspy; mjpf pH kjpg;G cilaJ vJ? 
a. NaCl      b. KNO3    
c. Na2CO3     d. ZnCl2 
e. tpil njhpatpy;iy 

 
14. Which of the following Organisation initiated for the first time the idea of 

education through Varnacular languages in India? 
a. Dawn society    b. Indian society 
c. East India Association   d. Anushilan samity 
e. Answer not known 
fPo;fz;ltw;wpy; ,e;jpahtpy; tl;lhu nkhopapy; fy;tp vDk; fUj;ij Kjd; 
Kjypy; njhlq;fpa mikg;G vJ? 
a. tpbay; r%fk;    b. ,e;jpa fofk; 
c. fpof;F ,e;jpa mNrhrpNard;  d. mDrPyd; rkPjp 
e. tpil njhpatpy;iy 

 
15. Ideally Moderators have 

a. High atomic weight and high neutron absorption cross section 
b. High atomic weight and low neutron absorption cross section 
c. Low atomic weight and high neutron absorption cross section 
d. Low atomic weight and low neutron absorption cross section 
e. Answer not known 
rpwe;j Fiwg;ghd;fSf;F ,Uf;Fk; gz;G 
a. mjpf mZ epiw kw;Wk; mjpf epA+l;uhd; cwpQ;rp FWf;F ntl;L 
b. mjpf mZ epiw kw;Wk; Fiw epA+l;uhd; cwpQ;rp FWf;F ntl;L 
c. Fiw mZ epiw kw;Wk; mjpf epA+l;uhd; cwpQ;rp FWf;F ntl;L 
d. Fiw mZ epiw kw;Wk; Fiw epA+l;uhd; cwpQ;rp FWf;F ntl;L 
e. tpil njhpatpy;iy 

 
16. In what time will ₹ 5,600 amount to ₹ 6,720 at 6% per annum? 

a. 3 years  b. 3
1

4
 years  c. 𝟑

𝟏

𝟑
 years   d. 3

1

2
  years 

e. Answer not known 
vj;jid Mz;Lfspy; ₹ 5,600,  6% Mz;L tl;b tPjj;jpy;> $Ljy; ₹ 6,720  
MFk;? 

a. 3 Mz;Lfs;    b. 3
1

4
 Mz;Lfs;  c. 3

1

3
 Mz;Lfs;   

d. 3
1

2
  Mz;Lfs;  e. tpil njhpatpy;iy 

 
17. If A : B = 2 : 5, B : C = 15 : 7, find the ratio of A : B : C. 
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a. 2 : 5 : 7  b. 3 : 15 : 7  c. 6 : 15 : 7   d. 6 : 15 : 14 
e. Answer not known 
A : B = 2 : 5, B : C = 15 : 7 vdpy;> A : B : C apd; tpfpjj;ijf; fhz;f. 
a. 2 : 5 : 7  b. 3 : 15 : 7  c. 6 : 15 : 7   d. 6 : 15 : 14 
e. tpil njhpatpy;iy 

 
18. Kuzhal’s mother makes dosa by mixing the batter made from 1 portion of 

urad dhall with 4 portions of rice. Represent each of the ingredients used in 
the batter as percentage 
a. 60%, 40%  b. 30%, 40%  c. 80%, 20%    
d. 80%, 40%  e. Answer not known 
1 gq;F cSe;J khTld; 4 gq;F mhprp fye;j khtpy;> Foy; vd;gthpd; 
jhahh; Njhir jahhpf;fpwhh; vdpy;> khtpypUf;Fk; %yg;nghUs;fisr; 
rjtPjkhff; Fwpf;fTk;. 
a. 60%, 40%  b. 30%, 40%  c. 80%, 20%     
d. 80%, 40%  e. tpil njhpatpy;iy 

 
19. The compound interest on ₹ 4000 compounded annually for 2 years at the 

rate of 5% per annum is 
a. ₹ 400   b. ₹ 480  c. ₹ 430   d. ₹ 410 

e. Answer not known 
Mz;Lf;F xU Kiw tl;b $l;Lk; Kiwapy; ₹ 4000 f;F Mz;nlhd;Wf;F 5% 
tl;b tPjk; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L tl;b vt;tsT? 
a. ₹ 400   b. ₹ 480  c. ₹ 430   d. ₹ 410 
e. tpil njhpatpy;iy 

 
20. Find the CI on ₹ 15000 for 3 years, if the rate of interest are 15%, 20% and 

25% for I, II and III years respectively. 
a. ₹ 9,875  b. ₹ 10,875  c. ₹ 12,875   d. ₹ 11,875 
e. Answer not known 
I> II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 
25% vdpy; ₹ 15000 f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 
a. ₹ 9,875  b. ₹ 10,875  c. ₹ 12,875   d. ₹ 11,875 
e. tpil njhpatpy;iy 

 
21. Whose voice was Rast Goftar? 

a. Dravida Mahajana Sabha  b. Ramakrishna Mission 
c. Aligar Movement    d. Parsi Movement 
e. Answer not known 
‘uh];l; Nfhg;jhh;’ ahUila Kof;fk;? 
a. jpuhtpl kfh[d rig   b. ,uhkfpU~;z kp~d; 
c. mypfhh; ,af;fk;    d. ghh;rp ,af;fk; 
e. tpil njhpatpy;iy 
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22. The First “Kisan Rail” of India is operated between 

a. Punjab and Haryana   b. Maharastra and Bihar 
c. Uttar Pradesh and Bihar  d. Punjab and Uttar Pradesh 
e. Answer not known 
,e;jpahtpd; Kjy; “fprhd; uapy;” ,t;tplq;fSf;F ,ilNa ,af;fg;gLfpwJ. 
a. gQ;rhg; kw;Wk; `hpahdh  b. kfhuh~;buk; kw;Wk; gP̀ hh; 
c. cj;jpugpuNjrk; kw;Wk; gP̀ hh;  d. gQ;rhg; kw;Wk; cj;jpugpuNjrk; 
e. tpil njhpatpy;iy 

 
23. Pandit Motilal Pattu was composed by 

a. V.A. Thiyagaraja    b. N. Krishnasamy 
c. K.V. Meenakshi Sundaram  d. P. Swaminathan 
e. Answer not known 
gz;bl; Nkhjpyhy; ghl;L vd;w njhFg;ig ntspapl;lth; 
a. V.A. jpahfuh[h;    b. N. fpU~;zrhkp 
c. K.V. kPdhl;rpRe;juk;   d. P. Rthkpehjd; 
e.  tpil njhpatpy;iy 

 
24. Who is the first woman pilot in the Indian Airforce? 

a. Priyanka Bhadani    b. Gunjan Saxena 

c. Miheeka Bajaj    d. Sheha Bhura 
e. Answer not known 
,e;jpa tpkhdg;gilapd; Kjy; ngz; tpkhdp ahh;? 
a. gphpaq;fh gjhdp    b. FQ;rd; ]f;N]dh 
c. kp`pfh gh[h[;    d. ];Ne`h Gh;uh 
e. tpil njhpatpy;iy 

 

 
25. Match the following 

A. Khan Abdul Ghaffar Khan  1. Redfort 
B. INA      2. Dominion Status 
C. August Offer    3. Bardoli Satyagraha 
D. Sardar Vallabhbai Patel  4. Red shirt 

 A B C D 
a. 2 1 3 4  
b. 3 4 2 1  
c. 4 1 2 3  
d. 1 3 4 2  
e. Answer not known 

gpd;tUtdtw;iwg; nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
A. fhd; mg;Jy; fhgh; fhd;    1. nrq;Nfhl;il 
B. INA       2. nlhkpdpad; me;j];J 
C. Mf];l; nfhil     3. gh;Njhyp rj;jpahfpufk; 
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D. rh;jhh; ty;ygha; gl;Nly;   4. nrQ;rl;il 
 A B C D 
a. 2 1 3 4  
b. 3 4 2 1  
c. 4 1 2 3  
d. 1 3 4 2  
e. tpil njhpatpy;iy 

 
26. “Naseem Al bahr” is a 12th edition of bilateral Maritime Naval exercise    

between  
 a. India and Bangladesh  b. India and Nepal 
 c. India and Oman   d. India and Philippines 
 e. Answer not known 

“erPk; my; gh/h;-d; 12-k; gjpg;G” ,t;tpU ehLfSf;F ,ilNaahd 
flw;gil gapw;rpahFk;. 

 a. ,e;jpah kw;Wk; tq;fNjrk;  b. ,e;jpah kw;Wk; Neghsk; 
 c. ,e;jpah kw;Wk; Xkd;  d. ,e;jpah kw;Wk; gpypg;igd;]; 

e. tpil njhpatpy;iy 
 
 

27. The Moplah Rebellion of 1921 broke out in 
a. Assam     b. Kerala 
c. Punjab     d. Bengal 
e. Answer not known 
1921-y; khg;sh fyfk; ve;j ,lj;jpy; eilngw;wJ. 
a. m];]hk;     b. Nfush 
c. gQ;rhg;     d. tq;fhsk; 
e. tpil njhpatpy;iy 

 
28. Palaeo – Mongoloids live along the fringes of the Himalayas. Which of the 

following Tribes belong to the Palaeo – Mangoloids Tace? 
I. Nagas 
II. Chakmas 
III. Lepcha 
IV. Todas 
a. I, II and III only   b. I, II and IV only  
c. II, III and IV only   d. I, III and IV only 
e. Answer not known 
njhy; kq;Nfhypah;fs; ,kakiyapd; tpspk;G gFjpapy; tho;e;J tUfpd;wdh;. 
fPo; cs;s ve;j goq;Fbapdh; njhy; kq;Nfhypa ,dj;ij Nrh;e;jth;fs;? 
I. ehfh;fs; 
II. rf;khf;fs; 
III. nyg;rh 
IV. Njhlh;fs; 
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a. I, II and III only   b. I, II and IV only  
c. II, III and IV only   d. I, III and IV only 
e. tpil njhpatpy;iy 

 
 

29. Zamindari system in India was introduced by 
a. William Bentinck    b. Warren Hastings 
c. L. Corn Wallis    d. Lord Dalhousie 
e. Answer not known 
[kPd;jhhp Kiwia ,e;jpahtpy; mwpKfg;gLj;jpath; ahh;? 
a. tpy;ypak; ngd;bq; gpuG   b. thud; N`];bq; gpuG 
c. vy;. fhud; thyp]; gpuG   d. yhh;l; ly;n`hrp gpuG 
e. tpil njhpatpy;iy 

 
30. The type of forest called as sholas 

a. Subtropical temperate hill forest 
b. Subtropical wet temperate forest 
c. Subtropical pine forest 
d. Subtropical dry evergreen forest 
e. Answer not known 
N~hyh vd miof;fg;gLk; fhL tif 
a. cg mad kpj ntg;g kiyf; fhLfs; 
b. cg mad <ug;gj kpjntg;g fhLfs; 
c. cg mad NjtjhU fhLfs; 
d. cg mad twz;l gRik khwhf; fhLfs; 
e.  tpil njhpatpy;iy 

 
 

31. Consider the following statement: 
1. In Zamindari tenure of land reforms, the tiller is responsible for paying 

tax to Government 
2. Zamindari system was introduced by Corn Wallis in 1893 
3. Zamindars were recognized as owner of lands 
4. Zamindari system was introduced in Bengal, Bihar, Orissa and Varanasi 
Among these which are correct statement? 
a. 1 and 2     b. 3 and 4 
c. 2 and 3     d. 1 and 4 
e. Answer not known 
gpd;tUk; $w;iw ftdp: 
1. epyr; rPh;j;jpUj;jj;jpy; [kPd;jhhp Kiwapy;> epyj;ij cOgtNu muRf;F 

thp nrYj;Jgth; Mthh;. 
2. [kPd;jhhp Kiw fhh;d; thyp]; vd;gtuhy; 1893 Mz;L Jtq;fg;gl;lJ. 
3. [kPd;jhh; epyj;jpd; nrhe;jf;fhuh; Mthh;. 
4. [kPd;jhhp Kiw tq;fhsk;> gPfhh;> xhprh kw;Wk; thudhrpapy; 

mwpKfg;gLj;jg;gl;lJ. 
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NkNy fz;ltw;Ws; vit rhpahd $w;W? 
a. 1 kw;Wk; 2     b. 3 kw;Wk; 4 
c. 2 kw;Wk; 3     d. 1 kw;Wk; 4 
e. tpil njhpatpy;iy 

 
32. The method used to determine the polymer to be used for water treatment 

plant is 
a. JAR Test     b. RBC  
c. Trickling Filter    d. Bio Tower 
e. Answer not known 
ePh; Rj;jpfhpg;G epiyaj;jpw;F gad;gLj;j Ntz;ba kPr;Nrh;k mstpid 
jPh;khdpf;f gad;gLj;jg;gLk; Kiw 
a. [hb Nrhjid    b. RBC 
c. je;jpu tbg;ghd;    d. caph; NfhGuk; 
e. tpil njhpatpy;iy 

 
 

33. Who started the English paper called ‘Comrade’? 
a. Maulana Muhammad Ali  b. Syed wazir Hussain 
c. Hussan Imam    d. Hakim Ajmal Kahan 
e. Answer not known 
‘fhk;uhl;’ vd;w Mq;fpy gj;jphpf;ifia Muk;gpj;jth; ahh;? 
a. nksyhd KfkJ myp   b. nra;aJ trPh; cird; 
c. crd; ,khk;    d. `f;fpk; m[;ky; `hd; 
e. tpil njhpatpy;iy 

 
34. Torrential floods have higher _______ concentration. 

a. Rocks      b. Stones 
c. Sediments     d. Fishes 
e. Answer not known 
nts;sg;ngUf;fpy; ________ nrwpT mjpfkhf cs;sJ. 
a. ghiwfs;     b. fw;fs; 
c. tz;ly; kz;    d. kPd;fs; 
e. tpil njhpatpy;iy 

 
 

35. According to Valluvar the good of the wealth obtained is to live 
a. Encircled by Relatives   b. Encircled by Enemies 
c. Encircled by Scholars   d. Encircled by Kinds 
e. Answer not known 
xUtd; nry;tk; ngw;wjhy;> ngw;w gadhf ts;Stk; ciug;gJ ahJ? 
a. Rw;wj;jhy; Rw;wg;gl xOfy;  b. giftuhy; Rw;wg;gl xOfy; 
c. rhd;Nwhuhy; Rw;wg;gl xOfy;  d. kd;duhy; Rw;wg;gl xOfy; 
e. tpil njhpatpy;iy 
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36. Find the number of years for the principal ₹ 2,500 rate of interest 2.5% and 
simple interest ₹ 187.50? 
a. 2   b. 3   c. 4    d. 5 
e. Answer not known 
₹ 2,500 mryhdJ> 2.5% tl;b tPjKk;> ₹ 187.50 jdp tl;bahf vj;jid 
Mz;Lfspy; fpilf;Fk; 
a. 2   b. 3   c. 4    d. 5 
e. tpil njhpatpy;iy 

 
37. The population of a town is increasing at the rate of 10% p.a. It was 4,35,000 

in the year 2016. Find the population in the year 2018? 
a. 3,52,350  b. 3,59,504  c. 5,26,350   d. 5,37,037 
e. Answer not known 
xU efuj;jpd; kf;fs;njhif Mz;Lf;F 10% tPjk; mjpfhpf;fpwJ. 2016 Mk; 
Mz;bd; kf;fs; njhif 4,35,000 Mf ,Ue;jJ vdpy;> 2018 Mk; Mz;bd; 
kf;fs;njhifiaf; fhz;f. 
a. 3,52,350  b. 3,59,504  c. 5,26,350   d. 5,37,037 
e. tpil njhpatpy;iy 

 
38. Two numbers are respectively 10% and 25% more than a third number. The 

percentage of the first to the second is 
a. 65%  b. 75%  c. 80%  d. 88% 

e. Answer not known 
,uz;L vz;fs; %d;whk; vz;iztpl KiwNa 10% kw;Wk; 25% mjpfk; 
vdpy; Kjy; vz;zhdJ ,uz;lhk; vz;zpd; _______ rjtPjk; MFk;. 
a. 65%  b. 75%  c. 80%  d. 88% 
e. tpil njhpatpy;iy 
 

39. An alloy contains 10 gm copper, 20 gm tin and 20 gm silver. What is the 
percentage of copper in the alloy? 
a. 20%  b. 25%  c. 30%  d. 11% 
e. Answer not known 
xU cNyhf fyitapy; 10 fpuhk; nrk;G 20 fpuhk; nts;sPak; kw;Wk; 20 
fpuhk; nts;sp cs;sJ vdpy; cNyhf fyitapy; cs;s nrk;gpd; rjtPjk; 
vd;d? 
a. 20%  b. 25%  c. 30%  d. 11% 
e. tpil njhpatpy;iy 

 
40. P’s income is 25% more than that of Q. By what percentage is Q’s income 

less than P’s? 
a. 25%  b. 10% c. 20% d. 12% e. Answer not known 
P ,d; tUkhdk; Q If; fhl;bYk; 25% mjpfk; vdpy;> Q ,d; tUkhdk; P-
If; fhl;bYk; vj;jidr; rjtPjk; FiwT? 
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a. 25%  b. 10% c. 20% d. 12% e. tpil njhpatpy;iy 
 

41. The state, which shares its border with Bangladesh is  
a. Sikkim    b. Bihar 
c. Manipur    d. Tripura 

e. Answer not known 
tq;fNjrj;Jld; vy;iyia gfph;e;J nfhs;Sk; khepyk; 
a. rpf;fpk;    b. gp`hh; 
c. kzpg;G+h;    d. jphpGuh 
e. tpil njhpatpy;iy 

 
 

42. Which act of the king reduces his wealth? 
a. Confiscated things from a thief 
b. Tears of the people ruled by a dictator 
c. Killing people professionally 
d. Collecting too much of taxes from people 
e. Answer not known 
kd;ddpd; nry;tj;ijj; Nja;f;Fk; gil vJ? 
a. fs;td; nghUisf; ifg;gw;Wjy; 
b. nfhLq;Nfhd;ikapd; fhuzkhf Vw;gl;l fz;zPh; 
c. nfhy;Yjy; njhopiy Nkw;nfhs;Sjy; 
d. kf;fsplk; mjpf thp t#ypj;jy; 
e. tpil njhpatpy;iy 

 
43. The Indian state that does not have an International Border is  

a. Haryana     b. Gujarat 
c. Rajasthan     d. Tamil Nadu 
e. Answer not known 
rh;tNjr vy;iy ,y;yhj ,e;jpa khepyk; 
a. `hpahdh     b. F[uhj; 
c. uh[];jhd;     d. jkpo;ehL 
e. tpil njhpatpy;iy 

 
 

44. Thiruvalluvar compares those who cannot express what they have learnt to 
others to 
a. flowers without fragrance 
b. flowers without a good shape 
c. flowers without colour 
d. flowers without freshness 
e. Answer not known 
jhk; fw;wijg; gpwUf;F vLj;Jf;$w ,ayhjtiu jpUts;Sth; vt;thW 
ctkpf;fpwhh;? 
a. kzk; tPrhj kyh; 
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b. mofw;w kyh; 
c. epwkw;w kyh; 
d. gRikaw;w kyh; 
e. tpil njhpatpy;iy 

 
45. Who developed National Migrant Information system 

a. National Disaster management Authority 
b. Ministry of skill development and Enterpreneurship 
c. National sample survey organization 
d. Central statistical organization 
e. Answer not known 
ahuhy; “Njrpa Gyk;ngah; jfty; mikg;G” cUthf;fg;gl;lJ? 
a. Njrpa Nghplh; Nkyhz;ik Mizak; 
b. jpwd; Nkk;ghL kw;Wk; njhopy;KidNthh; mikr;rfk; 
c. Njrpa khjphp fzf;nfLg;G fofk; 
d. kj;jpa Gs;spapay; fofk; 
e. tpil njhpatpy;iy 
 

46. _______ and ______ will disappear, if the sky above fails to gift the rain. 
a. Virtue, Wealth    b. Pleasure, Salvation 
c. Penance and Munificence  d. Honor, Bravery 
e. Answer not known 
_________ ,uz;Lk; jq;fh tpaDyfk; thdk; toq;fhJ vdpd;. 
a. mwk;> nghUs;    b. ,d;gk;> tPLNgW 
c. jhdk;> jtk;    d. khdk;> kwk; 
e.  tpil njhpatpy;iy 

 
47. The travel accounts of Chinese explorer Faxian mentioned about the 

following city as ancient metropolis 
a. Vaisali   b. Sanchi  c. Pataliputra    
d. Taxila    e. Answer not known 
fPo;tUk; Kw;fhy efuq;fspy; xd;wpid gw;wp rPd ahj;jphpfh; ghfpahd; 
Fwpg;gpl;Ls;shh;. 
a. it~hyp   b. rhQ;rp  c. ghlypGj;jpuk;    
d. jl;rrPyk;   e.  tpil njhpatpy;iy 

 
 

48. ‘Kudumbathil oru Nabar’ short story was written by 
a. Mouni    b. Sujatha   
c. Prabanjan    d. Ki. RajaNarayanan 
e. Answer not known 
‘FLk;gj;jpy; xU egh;’ – rpWfij Mrphpah; 
a. nksdp    b. R[hjh   
c. gpugQ;rd;    d. fp. uh[ehuhazd; 
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e. tpil njhpatpy;iy 
 

49. The tools of Harappa were made of 
a. Copper and Iron    b. Steel and Iron 
c. Bronze and Silver    d. Copper and Bronze 

e. Answer not known 
`ug;ghtpy; cs;s fUtpfs; vjdhy; nra;ag;gl;lJ? 
a. nrk;G kw;Wk; ,Uk;G   b. v/F kw;Wk; ,Uk;G 
c. ntz;fyk; kw;Wk; nts;sp  d. nrk;G kw;Wk; ntz;fyk; 
e.  tpil njhpatpy;iy 

 
 

50. Give the meaning of the word ‘Nuvai’ in the following lines: 
Numminum Siranthathu Nuvai agum Yendru 
Annai Kurinaal Punaiyathu Sirape. 
a. Thangai (Younger sister) 
b. Thamakai (Elder sister) 
c. Thozhi (Friend) 
d. Sevili (Nurse) 
e. Answer not known 
Ek;kpDk; rpwe;jJ Et;it MFnkd;W 
md;id $wpds; Gd;idaJ rpwg;Ng\ 
  -Et;it vd;gJ 
a. jq;if     b. jkf;if 
c. Njhop      d. nrtpyp 
e. tpil njhpatpy;iy 

 
51. Indian Mughal miniature painting dating was around the years 

a. Early 17th Century   b. Later 17th Century 
c. Early 18th Century   d. Later 18th Century 
e. Answer not known 
,e;jpa Kfyhah;fs; rpW khjphp Xtpaq;fspd; fhyk;? 
a. 17k; E}w;whz;bd; Kw;gFjp  b. 17k; E}w;whz;bd; gpw;gFjp 
c. 18k; E}w;whz;bd; Kw;gFjp  d. 18k; E}w;whz;bd; gpw;gFjp 
e. tpil njhpatpy;iy 

 
 

52. Irunthamizhae Unnal Irunthaen ________ virunthamiztham Endralum 
Vendaen. 
a. Imaiyor     b. Avaiyor 
c. Undor     d. Nator 
e. Answer not known 
,Ue;jkpNo cd;dhy; ,Ue;Njd; ________ tpUe;jkpo;jk; vd;whYk; 
Ntz;Nld;. (ve;j tpUe;jkpo;jk;) 
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a. ,ikNahh;     b. mitNahh; 
c. cz;Nlhh;     d. el;Nlhh; 
e. tpil njhpatpy;iy 

 
53. Which one of the coins of Vijaya Nagar kings come under the copper 

category? 
a. Varagan   b. Jittal   c. Dhara    
d. Pagoda   e. Answer not known 
tp[a efu murh;fspd; ehzaq;fspy; nrg;G ehzaq;fs; vit? 
a. tuhfd;   b. [pl;ly;   c. jhuh    
d. gNfhlh   e. tpil njhpatpy;iy 

 
54. In 1925 E.V. Ramasamy left the congress because: 

1. He could not follow the Gandhian Ideology. 
2. Congress overwhelmingly dominated by the brahmin leaders 
Which of the reasons given above is/are correct? 
a. 1 only      b. 2 only 
c. Both 1 and 2    d. Neither 1 nor 2 
e. Answer not known 
1925 k; Mz;L <.nt. uhkrhkp fhq;fpu]pypUe;J tpyfpajw;Ff; fhuzk;: 
1. ,tuhy; fhe;jpa nfhs;ifia gpd;gw;w Kbatpy;iy. 
2. fhq;fpu]; KOtJkhf gpuhkzj; jiyth;fspd; Nkyhjpf;fj;jpd; fPo; 

,Ue;jJ. 
Nkw;fhZk; fhuzq;fspy; vit rhpahd fhuzk; vd vOJf. 
a. 1 kl;Lk;     b. 2 kl;Lk;  
c. 1 kw;Wk; 2 ,uz;Lk;    d. 1 k; my;y 2 k; my;y 
e.  tpil njhpatpy;iy 

 
55. Identify the model Vaishnava theologians in South India invested Hindu 

framework? 
a. Buddhism     b. Jainism 
c. Brahminism     d. Sainism 
e. Answer not known 
njd;dpe;jpa itztf; nfhs;ifahsh;fs; ,e;J nfhs;ifia ve;j khjphpapy; 
mike;jhh;fs;? 
a. ngsj;jk;     b. rkzk; 
c. gpuhkzk;     d. irtk; 
e. tpil njhpatpy;iy 
 

 
56. If every side of a rectangle is doubled then its area becomes ______ times. 

a. 2  b. 3  c. 4  d. 6  e. Answer not known 
xU nrt;tfj;jpd; xt;nthU gf;fKk; ,U klq;fhFk; NghJ mjDila 
gug;gsT ________ klq;fhFk;. 
a. 2  b. 3  c. 4  d. 6  e. tpil njhpatpy;iy 
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57. What happens to the area of the parallelogram, if the base is increased 2 

times and the height is halved? 
a. Decreases to half   b. Remains the same 

c. Increases by two times  d. Increases to three times 
e. Answer not known 
Xh; ,izfuj;jpd; mbg;gf;fj;ij ,uz;L klq;fhfTk;> cauj;ij 
ghjpahfTk; khw;Wk; NghJ ,izfuj;jpd; gug;gsT vt;thW khWk;? 
a. ghjpahf khWk;   b. khwhJ 
c. ,uz;L klq;fhFk;  d. %d;W klq;fhFk; 
e. tpil njhpatpy;iy 

 
58. A can do a piece of work in 12 hours, B and C can do it in 3 hours whereas 

A and C can do it in 6 hours. How long will B alone take to do the same 
work? 
a. 4 hours  b. 3 hours  c. 5 hours  d. 6 hours 
e. Answer not known 
A vd;gth; xU Ntiyia 12 kzp Neuj;jpy; Kbg;ghh;. B kw;Wk; C me;j 
Ntiyia 3 kzp Neuj;jpYk; A kw;Wk; C me;j Ntiyia 6 kzp 
Neuj;jpYk; nra;J Kbg;gh;. mNj Ntiyia B jdpNa vt;tsT kzp 
Neuj;jpy; Kbg;ghh;?  
a. 4 kzp   b. 3 kzp  c. 5 kzp  d. 6 kzp 
e. tpil njhpatpy;iy 

 

 
59. 8 men can do a work in 20 days. After 5 days of work 4 more joined them. 

How many days will they take to complete the remaining work? 
a. 15 days  b. 12 days  c. 10 days  d. 8 days 
e. Answer not known 
8 Ml;fs; xU Ntiyia 20 ehl;fspy; nra;fpd;wdh;. 5 ehl;fs; fopj;J 4 
Ml;fs; $Ljyhf Ntiy nra;fpd;wdh; vdpy; kPjKs;s Ntiyia Kbf;f 
vj;jid ehl;fshFk;?  
a. 15 ehl;fs;  b. 12 ehl;fs; c. 10 ehl;fs; d. 8 ehl;fs; 
e. tpil njhpatpy;iy 

 
60. A is thrice a good workman as B and take 10 days less to do a piece of work 

than B. How many days B takes alone can do the whole work? 
a. 12 days  b. 15 days  c. 20 days  d. 30 days 
e. Answer not known 
xU Ntiyf;fhuuhf A vd;gth; B vd;gtiutpl Kk;klq;F nfl;bfhuh; kw;Wk; 
A vd;gth; xU Ntiyia Kbf;f B-I tpl 10 ehl;fs; Fiwthf 
vLj;Jf;nfhs;fpwhh; vdpy; B kl;Lk; me;j Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;?  
a. 12 ehl;fs;  b. 15 ehl;fs; c. 20 ehl;fs; d. 30 ehl;fs; 
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e. tpil njhpatpy;iy 
 

61. Which one of the following statements is correct regarding Rukmani 
Lakshmipathi 
1. She participated Vedaranyam Salt Satyagraha agitation 
2. She participated Civil disobedience movement 
3. She was the Deputy Speaker under the ministry of Rajaji 
4. She participated International women suffrage Alliance Congress in 

1926 at Paris 
a. 1, 2, 3, 4 are correct   b. 1, 2 are correct 3, 4 are incorrect 
c. 1, 3, 4 are correct 2 only incorrect d. 1, 2, 3 are correct 4 only incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; Uf;kzp yl;Rkpgjp gw;wpa rhpahd $w;W vJ? 
1. ,th; Ntjhuz;ak; cg;G rjjpahfpufj;jpy; fye;J nfhz;lhh;. 
2. ,th; rl;lkWg;G Nghuhl;lj;jpy; fye;J nfhz;lhh;. 
3. ,th; uh[h[p ke;jphprigapy; Jiz rghehafuhf ,Ue;jhh;. 
4. ,th; 1926y; ghhprpy; eilngw;w mfpy cyf ngz;fs; thf;Fhpik 

xd;wpa khehl;by; fye;J nfhz;lhh;.  
a. 1, 2, 3, 4 rhpahdJ    b. 1, 2 rhpahdJ 3, 4 jtwhdJ 
c. 1, 3, 4 rhpahdJ 2 kl;Lk; jtwhdJ d. 1, 2, 3 rhpahdJ 4 kl;Lk; jtwhdJ 

 
62. The Nagara, the Dravida and the Vesara are the 

a. Three main racial groups of the Indian subcontinent. 
b. Three main Linguistic division into which the languages of India can be 

classified. 
c. Three main style of Indian temple architecture. 
d. Three main musical Gharanas prevalent in India. 
e. Answer not known 
efu> jpuhtpl kw;Wk; tpru Mfpa 
a. ,e;jpa Jizf; fz;lj;jpd; %d;W Kf;fpa ,dkhFk;. 
b. ,e;jpa nkhopfs; ,e;j %d;W Kf;fpa nkhopapay; mbg;gilapy; 

tifg;gLj;jg;gLfpwJ. 
c. ,e;j %d;Wk; ,e;jpaf; Nfhapw;f;fiyapd; tiffshFk;. 
d. ,e;j %d;Wk; ,e;jpa ,irf; fh;zq;fshFk;. 
e. tpil njhpatpy;iy 

 
 

63. Why did Subramania Siva not travel by rail? 
a. Anti-Imperialist activities   b. Social status 
c. Leprosy patient     d. Militant 
e. Answer not known 
vd; Rg;gpukzpa rpth ,uapy; gazj;ij Nkw;f;nfhs;stpy;iy? 
a. Vfhjpgj;jpa vjph;g;G eltbf;if  b. r%f juepiy 
c. njhONehahsp     d. Nghuhsp 
e. tpil njhpatpy;iy 
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64. A community of people called Manganiyars is well-known for them 

a. Martial Art in North-East India 
b. Musical tradition in North-West India 
c. Classical vocal music in South-India 
d. Pietra Dura tradition in Central India 
e. Answer not known 
khq;fdpah;fs; vd miof;fg;gLk; r%fg;gphptpdh; vjd; %yk; kpfTk; 
gpugykhdth;fshf fUjg;gLfpwhh;fs;. 
a. tl-fpof;F ,e;jpahtpd; jw;fhg;G fiy (kf;fs;) fiyQh;fs; 
b. tl-fpof;F ,e;jpahtpd; ,irf; fiyQh;fs; 
c. njd; ,e;jpahtpd; ghuk;ghpa Fuy; ,irf; fiyQh;fs; 
d. kj;jpa-,e;jpahtpy; fhzg;gLk; ngl;uh Luh ghuk;ghpa (gpd;gw;Wfpwth;fs;) 

fiyQh;fs; 
e. tpil njhpatpy;iy 

 
 

65. Politicians of which region under British Rule demanded regional 
autonomy of Non-Brahmin Polity? 
a. Bombay Presidency   b. Calcutta Presidency 
c. Madras Presidency   d. Central Province 
e. Answer not known 
gphpl;b~; Ml;rpapd; fPo; gpuhkzh; my;yhjhUf;fhd Rahl;rp tl;lhu murpaiy 
fPo;tUtdtw;Ws; ve;j tl;lhuj;jpd; murpay;thjpfs; Ntz;bdh;? 
a. gk;gha; khfhzk;    b. fy;fj;jh khfhzk; 
c. nkl;uh]; khfhzk;   d. kj;jpa khfhzk; 
e. tpil njhpatpy;iy 

 
66. India may be described as a museum of cults and creeds, customs and 

culture…. who remarked the statement? 
a. R.K. Mukherjee    b. S.K. Chatterjee 
c. Wheeler     d. B.S. Guha 
e. Answer not known 
,e;jpah gy fyhr;rhuq;fs;> kjq;fs; gof;ftof;fq;fs;> topghl;L Kiwfs; 
nfhz;l mUq;fhl;rpafk; vd;W $wpath; ahh;? 
a. Mh;.Nf. Kfh;[p    b. v];.Nf. rl;lh;[p 
c. tPyh;      d. gp.v];. Ffh 
e. tpil njhpatpy;iy 

 
 

67. The achievement of self-respect movement was 
1. Widow remarriage 
2. Abolition of untouchability 
3. Communal representation 
4. Decline the influence of Varna Ghrama Dharma 
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a. 1, 2 are correct 3, 4 are incorrect  b. 1, 2, 3 are correct 4 is incorrect 
c. 1, 3, 4 are correct 2 is incorrect  d. 1, 2, 3, 4 are correct 
e. Answer not known 
Ra khpahij ,af;fj;jpd; rhjid ________ MFk;. 
1. tpjit kWkzk;  
2. jPz;lhik xopg;G 
3. tFg;G thhp gpujpepjpj;Jtk; 
4. th;z fpuhk jh;k Kiwapd; tPo;r;rp 
a. 1> 2 rhpahdJ 3> 4 jtwhdJ   
b. 1> 2> 3 rhpahdJ 4 kl;Lk; jtwhdJ 
c. 1> 3> 4 kl;Lk; rhpahdJ 2 kl;Lk; jtwhdJ 
d. 1> 2> 3> 4 rhpahdJ 
e. tpil njhpatpy;iy 

 
68. Private Bill in Indian Parliament 

R : Private Bill can be presented in the House with the consent of the  
      President. 
S : Private Bill is passed in the same way as the Public bill. 
a. S is true R is false. 
b. R is false S is true. 
c. R and S are false. 
d. R and S are true. 
e. Answer not known 
,e;jpa ghuhSkd;wj;jpy; jdp cWg;gpdh; kNrhjh $w;Wgb 
Mh; : jdp cWg;gpdh; kNrhjh Nehl;B];> mjd; Nehf;fq;fs;> fhuzq;fs;  
     kw;Wk; FbauRj; jiythpd; mDkjpAld; mspf;fg;gl Ntz;Lk;. 
v]; : murhq;f kNrhjhf;fs; NghyNt jdp cWg;gpdh; kNrhjh  
     epiwNtw;wg;gLk;. 
a. v]; rhp Mdhy; Mh; jtW 
b. Mh; jtW Mdhy; v]; rhp 
c. Mh; kw;Wk; v]; jtW 
d. Mh; kw;Wk; v]; rhp 
e. tpil njhpatpy;iy 

 
 

69. Which one of the pair is not correctly matched? 
1. Pari   - Mountain of Parrambu 
2. Began  - Mountain of Palani Malai 
3. Vettuvan  - Mountain of Kodai 
4. Ay   - Kuthirai malai 
a. 1, 2 correctly matched 3, 4 are not correctly matched 
b. 1, 2, 3 are correctly matched 4 only not matched correctly 
c. 1, 2, 3, 4 are correctly matched 
d. 1, 3, 4 are correctly matched and 3 only not matched correctly 
e. Answer not known 
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fPo;fz;ltw;wpy; ve;j ,iz rhpahf nghUe;jtpy;iy 
1. ghhp   - gwk;G kiy 
2. Ngfd;  - godp kiy 
3. Ntl;Ltd;  - Nfhil kiy 
4. Ma;   - Fjpiu kiy 
a. 1> 2 rhpahf nghUe;jp cs;sJ> 3> 4 rhpahf nghUe;jtpy;iy 
b. 1> 2> 3 rhpahf nghUe;jp cs;sJ> 4 kl;Lk; rhpahf nghUe;jtpy;iy 
c. 1> 2> 3> 4 rhpahf nghUe;jp cs;sJ 
d. 1> 3> 4 rhpahf nghUe;jp cs;sJ> 2 kl;Lk; rhpahf nghUe;jtpy;iy 
e. tpil njhpatpy;iy 

 
70. Who is/are elected in India by single transferable vote system? 

a. Lok Sabha in two Anglo-Indian numbers. 
b. President, Vice-President and Rajya Sabha members. 
c. Only Vice President 
d. Prime Minister 
e. Answer not known 
,e;jpa Njh;jy; Kiwfspy; xw;iw khw;W thf;F%yk; 
Njh;e;njLf;fg;gLfpwth;fs;. 
a. fPo; rigapy; ,uz;L Mq;fpy-,e;jpah;fspd; Njh;T Kiw 
b. FbauR jiyth;> Jiz FbauR jiyth;> khepyq;fs; mit 

cWg;gpdh;fspd; Njh;jy; Kiw. 
c. FbauR Jiz jiythpd; Njh;T 
d. gpujkhpd; Njh;e;njLf;Fk; Kiw 
e. tpil njhpatpy;iy 

 
 
71. History of local self-Government in Tamil Nadu is evident from _______ 

inscription in ________ District. 
a. Uthiramerur, Kanchipuram  b. Keeladi, Madurai 
c. Adichanallur, Thoothukudi  d. Sittanavasal, Pudukottai 
e. Answer not known 
jkpo;ehl;by; cs;shl;rp murhq;fj;jpd; tuyhw;wpid ________ khtl;l 
_________ fy;ntl;Lfspd; %yk; mwpayhk;. 
a. cj;jpuNk&h;> fhQ;rpGuk;   b. fPob> kJiu 
c. Mjpr;rey;Y}h;> J}j;Jf;Fb  d. rpj;jd;dthry;> GJf;Nfhl;il 
e. tpil njhpatpy;iy 

 
72. The quorum to convene a meeting of a House of the State Legislature shall 

be 
a. Thirty members or one tenth of Local membership. 
b. Ten members or one-tenth of total membership whichever is more. 
c. 1/3 of the total membership of the House. 
d. 50% of the total membership of the House. 
e. Answer not known 
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khepy rl;lkd;wk; $Ltjw;fhd Fiwe;jgl;r cWg;gpdh;fspd; 
vz;zpf;ifahdJ 
a. 30 cWg;gpdh;fs; my;yJ 10-y; xU gq;F cWg;gpdh;fs; 
b. 10 cWg;gpdh;fs; my;yJ nkhj;j cWg;gpdh; vz;zpf;ifapy; gj;jpy; xU 

gq;F ,tw;Ws; vJ mjpfNkh mJ 
c. nkhjj cWg;gpdh;fspy; %d;wpy; xU gq;F cWg;gpdh;fs; 
d. nkhjj cWg;gpdh;fspy; ghjpf;FNky; cWg;gpdh;fs; 
e. tpil njhpatpy;iy 

 
73. According to ________ trade links existed between the Malabar Coast and 

Arabia even before the establishment of the Roman Empire. 
a. M.R.M. Abdur Rahim   b. M.M. Meeran Pillai 
c. A.P. Ibrahim Kunju   d. R.S. Abdul Lathief 
e. Answer not known 
NuhkGhp NguuR cUthtjw;F Kd;gpUe;Nj kyghh; flw;fiuf;Fk; 
mNugpahtpw;FkpilNa tpahghu njhlh;G ,Ue;jJ vd $wpaJ ahh;? 
a. M.R.M. mg;Jh; u`Pk;   b. M.M. kPuhd; gps;is 
c. A.P. ,g;uh`pk; Fd;[P   d. R.S. mg;Jy; yjP/g; 
e. tpil njhpatpy;iy 

 
74. Which of the following statements about fundamental duties is not true? 

a. Swaran Singh committee suggested the incorporation of 10 
fundamental duties in the Constitution. 

b. Fundamental duties in the Indian Constitution are inspired by the 
Constitution of USSR. 

c. Fundamental duties were included by the 42nd Amendment Act. 
d. They are enforceable by law. 
e. Answer not known 
mbg;gil flikfisg; gw;wpa fPo;f;fhzg;gLk; thf;fpaq;fspy; vit 
jtwhdit? 
a. ,e;jpa murpay; rhrdj;jpd; 10 mbg;gil flikfis mwpKfg;gLj;j 

Rud;rpq; FO ghpe;Jiuj;jJ. 
b. ,e;jpa murpay; rhrdj;jpy; cs;s mbg;gil flikfs; fUj;J 

Nrhtpaj; ehl;bypUe;J ngwg;gl;lJ. 
c. mbg;gilf; flikfis 42tJ jpUj;jy; rl;lk; mwpKfg;gLj;jpaJ. 
d. mit rl;lj;jhy; nray;gLj;jg;gLfpd;wd. 
e.  tpil njhpatpy;iy 

 
75. The age eligibility to avail the pension scheme for third genders is above 

________ years in Tamil Nadu. 
a. 40     b. 50 
c. 58     d. 60   e. Answer not known 
jkpofj;jpy;> %d;whk; ghypdj;jth; jk; Xa;T+jpa jpl;lj;jpd;> gadhspfspd; 
taJ tuk;G> _______ taJf;F Nky;. 
a. 40     b. 50 
c. 58     d. 60   e. tpil njhpatpy;iy 
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76. Which of the following cannot be taken as probability of an event? 
a. 0  b. 0.5  c. 1  d. -1  e. Answer not known 
gpd;tUtdtw;Ws; vJ xU epfo;r;rpapd; epfo;jfthf ,Uf;f KbahJ? 
a. 0  b. 0.5  c. 1  d. -1  e. tpil njhpatpy;iy 
 

77. Common prime factors of 30 and 250 are 
a. 2, 5  b. 3, 5   c. 2, 3, 5  d. 5, 5 
e. Answer not known 
30 kw;Wk; 250 ,d; nghJ gfhf; fhuzpfisf; fhz;f 
a. 2, 5  b. 3, 5   c. 2, 3, 5  d. 5, 5 
e. tpil njhpatpy;iy 

 
78. Find the odd man out 

6, 11, 21, 41, 81, 171, 321, 641 
a. 81  b. 171 c. 641  d. 6  e. Answer not known 
gpd;tUk; thpirapy; jdpg;gl;l vz;izj; Njh;T nra;f 
6, 11, 21, 41, 81, 171, 321, 641 
a. 81  b. 171  c. 641  d. 6  e. tpil njhpatpy;iy 

 
79. If (x – 6) is the HCF of (x2 – 2x – 24) and (x2 – Kx – 6) then the value of K is  

a. 3  b. 8  c. 5  d. 6  e. Answer not known 
(x – 6) MdJ (x2 – 2x – 24) kw;Wk; (x2 – Kx – 6) ,tw;wpd; kP.ngh.t vdpy; K d; 
kjpg;G? 
a. 3  b. 8  c. 5  d. 6  e. tpil njhpatpy;iy 

 
80. Find A and B in the addition. 12A + 6AB = A09 

a. A = 7, B = 2    b. A = 8, B = 1 

c. A = 6, B = 3    d. A = 5, B = 4 
e. Answer not known 
12A + 6AB = A09 vd;w $l;ly; rkd;ghl;by; A kw;Wk; B d; kjpg;G fhz;f. 
a. A = 7, B = 2    b. A = 8, B = 1 
c. A = 6, B = 3    d. A = 5, B = 4 
e. tpil njhpatpy;iy 

 
81. The main purpose of including the Directive Principles of State Policy in the 

Indian Constitution is 
a. Legal Reforms and making laws 
b. People Welfare State 
c. Special protection of the interests of the weaker section of society 
d. Enforceable by Courts 
e. Answer not known 
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,e;jpa murpayikg;gpy; muR topfhl;Lk; newpKiw nfhs;iffis 
cl;gLj;jpajd; Kf;fpa Nehf;fk; 
a. rl;l rPh;j;jpUj;jk; kw;Wk; rl;l cUthf;fk; 
b. kf;fs; ey muR 
c. r%fj;jpd; gytPdg;gl;l tFg;G kf;fspd; eyd;fSf;fhd rpwg;G ghJfhg;G 
d. ePjpkd;w eltbf;iffs; 
e. tpil njhpatpy;iy 

 
 

82. Match the following: 
Act      Year 

A. Child Marriage Prohibition Act  1. 1961 
B. Dowry Prohibition Act   2. 2005 
C. Domestic Violence Act   3. 2013 
D. Sexual Harassment of Women at   4. 2006 

Women at Work Place Act 
  A B C D 
 a. 2 4 1 3  
 b. 3 1 4 2  
 c. 4 1 2 3  
 d. 2 3 4 1  

e. Answer not known 
 gpd;tUtdtw;iw nghUj;Jq;fs;: 
    rl;lk;     Mz;L 

A. Foe;ij jpUkz jilr;rl;lk;  1. 1961 
B. tujl;riz jilr;rl;lk;   2. 2005 
C. tPl;L td;Kiwr; rl;lk;    3. 2013 
D. Ntiy nra;Ak; ,lj;jpy; ngz;fs;  4. 2006 

  ghypay; Jd;GWj;jy; rl;lk;   
 

  A B C D 
 a. 2 4 1 3  
 b. 3 1 4 2  
 c. 4 1 2 3  
 d. 2 3 4 1  
 e. tpil njhpatpy;iy 

 
83. Consider the following statements about Directive Principles of State Policy 

(DPSP) 
a. The direct source of inspiration for DPSP was the instrument of 

instructions issued under the government of India Act, 1935 
b. The Irish constitution of 1937 inspired to make the directive principles 

as a non-enforceable entity 
Choose the correct answer from the options given below 
a. (a) is correct but (b) is wrong 
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b. (a) and (b) are correct 
c. (a) is wrong but (b) is correct 
d. (a) and (b) are wrong 
e. Answer not known 
murpd; newpKiw topfhl;Lk; nfhs;iffs; gw;wpa fPo;f;fhZk; 
thf;fpaq;fis ftdpf;fTk;.  
a. murpd; newpKiw topfhl;Lk; nfhs;iffspd; Neub Mjhuk;> ,e;jpa muR 

rl;lk;> 1935 toq;fpa mwpTWj;jy;fs; MFk;. 
b. 1937 Mk; Mz;bd; mah;yhe;J murpayikg;gpd; topelj;Jk; 

nfhs;iffis ePjpkd;wj;jpy; epahagLj;j KbahJ. 
rhpahd tpilia Njh;e;njLf;fTk; 
a. (a) rhp Mdhy; (b) jtW 
b. (a) kw;Wk; (b) rhp 
c. (a) jtW Mdhy; (b) rhp 
d. (a) kw;Wk; (b) jtW 
e. tpil njhpatpy;iy 

 
 

84. Child screening and early intervention service as a part of National Rural 
Health Mission is known as 
a. Jhanani Shishu Suraksha Karyakram 
b. Rashitriya Bal Swasthya Karyakram 
c. Mother and Child Health Wing 
d. Kutir Jyoti scheme 
e. Answer not known 
Njrpa fpuhkGw Rfhjhu jpl;lj;jpd; xU gFjpahf Foe;ij ghpNrhjid 
kw;Wk; Foe;ijapd; ghypdk; mWjy; cs;sJ. ,ij ______ vd 
mwpag;gLfpwJ. 

a. [ddp rpR Ruf;~h fhh;afpuk; 
b. uh~;l;hpa ghy; Rth];j;ah fhh;afpuk; 
c. jha; kw;Wk; Foe;ij Rfhjhu gphpT 
d. Fjph; N[hjp jpl;lk; 
e. tpil njhpatpy;iy 

 
85. Who told, “Constitution made India a quassi federal union invested with 

several important features of Unitary Government” 
a. K.M. Munshi    b. K.C. Wheare 
c. Norman D. Palmer   d. G.N. Joshi 
e. Answer not known 
“xw;iw Ml;rp murhq;fj;jpd; gy;NtW Kf;fpa $Wfis jd;dfj;Nj nfhz;l 
xU Fthrp $l;lhl;rp Kiw nfhz;l ehlhf ,e;jpahit ek; murpayikg;G 
cUthf;fpAs;sJ” vd;W $wpath; ahh;? 
a. K.M. Kd;~p    b. K.C. tpah; 
c. ehh;kd; D. ghy;kh;    d. G.N. N[h~p 
e. tpil njhpatpy;iy 
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86. The new scheme ”Improvement of Riding Quality Programme” in Tamil 

Nadu launched for 
a. upgrade the Airways   b. upgrade the Education 
c. upgrade the Roads   d. upgrade the Railways 
e. Answer not known 
“jukhd rthhp jpl;l Kd;Ndw;wk;” vd;w jpl;lk; jkpo;ehl;by; ,jw;fhf 
Jtq;fg;gl;lJ. 
a. thd;ntspg; gazj;jpid juk; cah;j;j 
b. fy;tpia juk; cah;j;j 
c. rhiyfis juk; cah;j;j 
d. ,Ug;Gg; ghijfis juk; cah;;j;;j 
e.  tpil njhpatpy;iy 

 
87. Consider the following statement: 

1. Finance Commission determines the resources transfer to the States 
2. Article 280(3) speaks about the functions of the Finance Commission. 
3. The tenure of Finance Commission is six years 
4. The Finance Commission is appointed by President 
From the above, which are correct statement? 
a. 1 and 2     b. 1, 2 and 3 
c. 3 and 4     d. 1, 2 and 4 

e. Answer not known 
gpd;tUk; $w;iw ftdp: 
1. epjpf; FO eph;zak; nra;tJ> epjp tsq;fis khepy muRf;F khw;Wjy; 
2. ~uj;J 280(3) epjpf; FOtpd; gzpfs; gw;wp $WfpwJ 
3. xU epjpf; FOtpd; fhyk; MW Mz;Lfs; MFk; 
4. [dhjpgjpahy; epjpf;FO gzpakh;j;jg;gLfpwJ  
NkNy fz;ltw;Ws; vit rhpahd $w;W? 
a. 1 kw;Wk; 2     b. 1, 2 kw;Wk; 3 
c. 3 kw;Wk; 4     d. 1, 2 kw;Wk; 4 
e. tpil njhpatpy;iy 
 

88. The Mettur Dam is also called as 
a. Malcom Reservoir   b. Benny Reservoir 
c. Stanles Reservoir    d. Stanley Reservoir 
e. Answer not known 
Nkl;^h; ePh; Njf;fk; ,t;thWk; miof;fg;gLfpwJ. 
a. khy;fk; ePh;j;Njf;fk;   b. ngd;dp ePh;j;Njf;fk; 
c. ];nld;]; ePh;j;Njf;fk;   d. ];nld;yp ePh;j;Njf;fk; 
e.  tpil njhpatpy;iy 

 
89. Which of the following statements is/are correct regarding political parties? 

I. For the effective functioning of a democracy, the existence of political 
parties is mandatory 
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II. The relationship between party system and democracy will be 
incomplete without opposition parties 

III. Opposition party leader enjoys the status and privileges of the rank of 
cabinet minister 

Select the correct answer using the code given below: 
a. I and II only    b. I only 
c. II and III only    d. I, II and III 

e. Answer not known 
fPo;f;fhZk; thf;fpaq;fspy; vJ/vit rhpahdit?  
I. kf;fshl;rpapd; typikahd nray;ghl;bw;f;F murpay; fl;rpfs; kpf 

mtrpak; 
II. fl;rp Kiw kw;Wk; kf;fshl;rp Kiwapd; ,ilNaahd cwtpid 

vjph;f;fl;rpfs; jhd; KOikaila nra;fpd;wd 
III. vjph;f;fl;rpj; jiyth; vd;gth; xU fhgpdl; mikr;rUf;F ,izahd 

me;j];J kw;Wk; epiy ngUfpwhh;.  
rhpahd tpilia Njh;e;njLf;fTk;. 
a. I kw;Wk; II kl;Lk;    b. I kl;Lk; 
c. II kw;Wk; III kl;Lk;    d. I, II kw;Wk; III 
e. tpil njhpatpy;iy 

 
90. Match the following as per TN Budget 2019: 

Activity      Output 
A. Global Investors Meet 2019   1. Coimbatore 
B. Defence industrial corider   2. Highways 
C. Climate change adoption program 3. Rs. 3 Lakh crore 
D. CRIDP      4. Cauvery Delta 

 A B C D 
a. 3 2 1 4  
b. 4 3 2 1   
c. 1 4 3 2  
d. 3 1 4 2 
e. Answer not known 

nghUj;Jf> jkpo;ehL gl;n[l; 2019d; mbg;gilapy; 
nray;ghL     ntspg;ghL 

A. cyf KjyPl;lhsh; khehL – 2019  1. Nfhak;Gj;J}h; 
B. ghJfhg;Gj;Jiwj; njhopy; fhhplhh;  2. neLQ;rhiy 
C. gUt epiy khw;w Vw;Gj;jpl;lk;  3. &. 3 yl;rk; Nfhb 
D. CRIDP      4. fhNthp nly;lh 

 A B C D 
a. 3 2 1 4  
b. 4 3 2 1   
c. 1 4 3 2  
d. 3 1 4 2 
e. tpil njhpatpy;iy 
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91. Assertion (A) : Most of the crimes committed against the SCs/STs go  
                           unreported 
Reason (R)     : Though the Government has set up courts for preventing  
                          untouchability and other offences committed against them  
                          yet these provisions lack ‘teeth’ and an effective machinery  
                          for firmly imparting justice to SCs/STs 
a. (A) is true but (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
cWjpg;glf; $wy; (c): gl;baypd rhjpapdh;/goq;Fbapdh; kf;fSf;F 
vjpuhd Fw;wq;fspy; ngUk;ghyhdit Gfhh; mspf;fg;glhky; Ngha;tpLfpwJ. 
fhuzk; (fh): gl;baypd rhjpapdh;/goq;Fbapdh; kf;fSf;F vjpuhf 
,iof;fg;gLk; jPz;lhik kw;Wk; gpw Fw;wq;fisj; jLg;gjw;fhf murhq;fk; 
ePjpkd;wq;fis mikj;jpUe;jhYk;> mf;Fw;wq;fs; kPJ cWjpahd eltbf;if 
vLf;fr; rl;l tpjpKiwfSf;F NghJkhd mjpfhuk;> ePjp toq;Ftjw;fhd 
rpwe;j nraw;Kiw Nghd;wit ,y;iy 
a. (c) rhp Mdhy; (fh) jtW 
b. (c)> (fh) ,uz;Lk; rhp> ,j;Jld; (fh) vd;gJ (c)-tpd; rhpahd tpsf;fk; 
c. (c) jtW Mdhy; (fh)rhp 
d. (c)> (fh) ,uz;Lk; rhp> ,j;Jld; (fh) vd;gJ (c)-tpd; rhpahd tpsf;fk; 

my;y 
e. tpil njhpatpy;iy 

 
92. Why the Kanyakumari district has the highest literacy rate? 

a. Effects of Kerala development  b. Low birth rate 
c. Small district     d. Tourist Area 
e. Answer not known 
kpff;$Ljyhd fy;tp mwpT ngw;w khtl;lkhf fd;dpahFkhp jpfo vd;d 
fhuzk;? 
a. Nfus khepy epfo;Tfspd; jhf;fk;  b. Fiwe;j gpwg;G tpfpjk; 
c. rpwpa khtl;lk;     d. Rw;Wyh gFjp 
e. tpil njhpatpy;iy 

 
93. Match List I (subject) with List II (case) and choose the correct option: 

List I (subject)    List II (case) 
A. Sexual Harassment against 1. Ashwinder Kaur Vs. Punjab 

 women        University 
B. Right to equality   2. Minerva Mills Ltd Vs. Union of India 
C. Double jeopardy   3. Visaka Vs. State of Rajasthan 
D. Basic features of the   4. Makbool Vs. State of Bombay 

constitution 
  A B C D 
 a. 3 1 4 2  
 b. 1 4 2 3  



 

28 | P a g e  
 

 c. 3 4 1 2  
 d. 1 3 2 4  

e. Answer not known 
gl;bay; I ($W) gl;bay; II (tof;F) cld; nghWj;Jf. 

  gl;bay; I ($W)   gl;bay; II (tof;F) 
A. ngz;fSf;F vjpuhd ghypay; 1. m];tpe;jh; Nfhh; V gQ;rhg;  

njhy;iy                     gy;fiyf;fofk;                  
B. rkj;Jt chpik    2. kpdh;th kpy; ypkpl; V ,e;jpah 
C. ,ul;il jz;lid Kiw  3. tp~hfh V uh[];jhd; khepyk; 
D. murpay; rhrdj;jpd; mbg;gil 4. kf;G+y; V ghk;Ng khepyk;  
   $Wfs; 
  A B C D 
 a. 3 1 4 2  
 b. 1 4 2 3  
 c. 3 4 1 2  
 d. 1 3 2 4  

e. tpil njhpatpy;iy 
 

 
94. The state which received the “National Krishi Karman” award for five 

times is 
a. Uttar Pradesh    b. Andhra Pradesh 
c. Madhya Pradesh    d. Tamil Nadu 
e. Answer not known 
“Njrpa fphp~p fh;kd;” tpUij Ie;J Kiwg; ngw;w khepyk; 
a. cj;jpu gpuNjrk;    b. Me;jpu gpuNjrk; 
c. kj;jpa gpuNjrk;    d. jkpo;ehL 
e. tpil njhpatpy;iy 

 
 

95. Which country provided fund to the Tamil Nadu Urban Health Care 
Project? 
a. Malaysia    b. Russia 
c. America    d. Japan 

e. Answer not known 
ve;j ehl;bd; epjpAjtpAld; jkpo;ehL efu Rfhjhuj; jpl;lk; 
nray;gLjjg;gLfpd;wJ? 
a. kNyrpah    b. u~;ah 
c. mnkhpf;fh    d. [g;ghd; 
e. tpil njhpatpy;iy 
 

 
96. What is half of 210? 

a. 25  b. 26  c. 29  d. 28  e. Answer not known 
210 ,y; ghjp vt;tsT? 
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a. 25  b. 26  c. 29  d. 28  e. tpil njhpatpy;iy 
 

97. Find the smallest number that can be divided by 254 and 508 which leaves 
the remainder 4 
a. 254  b. 508  c. 805  d. 512 e. Answer not known 
254 kw;Wk; 508 Mfpa vz;fshy; tFf;Fk; NghJ kPjp 4-Ij; jUk; kpfr;rpwpa 
vz;izf; fhz;f. 
a. 254  b. 508  c. 805  d. 512 e. tpil njhpatpy;iy 

 

98. The value of  √3√3√3. . . is 

a. √3  b. 3  c. √3√3 d. 27  e. Answer not known 

√3√3√3. . .  -d; kjpg;G 

a. √3  b. 3  c. √3√3 d. 27  e. tpil njhpatpy;iy 
 
 

99. FAG, GAF, HAI, IAH, _________ 
a. JAK  b. HAL c. HAK d. JAI  e. Answer not known 
FAG, GAF, HAI, IAH, _________ 
a. JAK  b. HAL c. HAK d. JAI  e. tpil njhpatpy;iy 

 
100. When K ∊ N, LCM of ak, ak+3 and ak+5 is 

a. ak+9  b. ak  c. ak+6  d. ak+5 e. Answer not known 
K ∊ N vdpy;> ak, ak+3 kw;Wk; ak+5 ,tw;wpd; kP.rp.k vJ? 
a. ak+9  b. ak  c. ak+6  d. ak+5 e. tpil njhpatpy;iy 

 
 

 
 
 

 


